MATHS

BOOKS - KC SINHA MATHS (HINGLISH)

INDEFINITE INTEGRALS - FOR BOARDS

Solved Examples

1. /(1 j;;)?) dx

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KjxM9vjKLIg8

2. If

: I
/(31112:1: — cos 2z )dx = Esm(%c —a)+C

, then a=

o Watch Video Solution

.Uff'(z) = 2 + % & f(1) = 5/2 then f(x) = ?

o Watch Video Solution



https://dl.doubtnut.com/l/_KjxM9vjKLIg8
https://dl.doubtnut.com/l/_JyYTz2Wuey8G
https://dl.doubtnut.com/l/_6miLMqIHhcKQ

L

ot

° Watch Video Solution

3r + 5
5./ dzx
vVix + 9

o Watch Video Solution

4
6. Evaluate: /:13 +1 dzx
x2 +1

° Watch Video Solution



https://dl.doubtnut.com/l/_UCV8RMZCZgxF
https://dl.doubtnut.com/l/_5sxtraPvBqtD
https://dl.doubtnut.com/l/_mWiAbA6vugFG

2
sec”
7. —2d.’13
cos ecr

o Watch Video Solution

8. Evaluate: /sin4 2 dx

o Watch Video Solution

9. Evaluate: ‘intsqrt(1sinx)\ dx ,\\ O

o Watch Video Solution



https://dl.doubtnut.com/l/_xXrOUSt7FX06
https://dl.doubtnut.com/l/_GYdRGr2BN5yX
https://dl.doubtnut.com/l/_L3YOBn1t9RTF

10.Find/ dz
1+ cosx

o Watch Video Solution

1
11. EvaIuate:/ - dx
1+ sinx

o Watch Video Solution

12. Evaluate /sin 3x cos bx dx

o Watch Video Solution



https://dl.doubtnut.com/l/_k2vVrWfso7VM
https://dl.doubtnut.com/l/_ko1xSixWVKsc
https://dl.doubtnut.com/l/_3sXp6y1c3mC4

13. Find /sm wcos(%)dw

o Watch Video Solution

14. ‘inttan”(- 1)sqrt((1-sinx)/(1+sinx))dx ,-pi/2

o Watch Video Solution

15. Evaluate: / COS 37 + cos 4z dzx
1 — 2cos3zx

o Watch Video Solution



https://dl.doubtnut.com/l/_EslUGyG4AQsi
https://dl.doubtnut.com/l/_BsL280gz6iOY
https://dl.doubtnut.com/l/_JJrIUjo5uJ24

16. Evaluate /a3x+3 dz,a > 0

o Watch Video Solution

17. Write a value of

/(ew(log)ea+ea(log)ex) g

o Watch Video Solution

18. Evaluate: / ;;, dzx

o Watch Video Solution



https://dl.doubtnut.com/l/_ZqZhjSoP454G
https://dl.doubtnut.com/l/_UiHdzzkB2COc
https://dl.doubtnut.com/l/_nUk4kwwoRlHt

19. Evaluate: (i) /(5:13 + 3)2x — 1dx (i)

T
dzx
/,/:c—i—a—\/zc—kb

o Watch Video Solution

20. Find fz:z Vaz +bde

o Watch Video Solution

T 2 — 3x
21.Eva|uate:/ dx (ii)/ dx
v +4 v1+ 3x


https://dl.doubtnut.com/l/_nUk4kwwoRlHt
https://dl.doubtnut.com/l/_ABA3fCW1LPt7
https://dl.doubtnut.com/l/_RGuqOrtMwAk6
https://dl.doubtnut.com/l/_sUBu6Knbc9iM

° Watch Video Solution

22. Evaluate /a:(l — :1:)2/3 dz

° Watch Video Solution

2
+1

23. Evaluate: /w—2da:
(z +1)

o Watch Video Solution

24.Find /(:053 T dx


https://dl.doubtnut.com/l/_sUBu6Knbc9iM
https://dl.doubtnut.com/l/_QickN8KiFm6K
https://dl.doubtnut.com/l/_IoYow87D6sZS
https://dl.doubtnut.com/l/_Gi8wJ1iCS5B5

° Watch Video Solution

25. Evaluate: /cos3 x.\/Ss € dx

° Watch Video Solution

26. Evaluate: /sin3 x cos’ zdx

° Watch Video Solution

1
27. Evaluate: / dx

sin x cos® &



https://dl.doubtnut.com/l/_Gi8wJ1iCS5B5
https://dl.doubtnut.com/l/_fo0ymY1R6XrY
https://dl.doubtnut.com/l/_iTYzuX0doWP2
https://dl.doubtnut.com/l/_YypFecgUXGhR

° Watch Video Solution

28. /sin4 xdx

° Watch Video Solution

29. Find ﬁ:an" rsec’ z de, (n # — 1)

° Watch Video Solution

30. Evaluate: /sec4 T dzx


https://dl.doubtnut.com/l/_YypFecgUXGhR
https://dl.doubtnut.com/l/_HE0oskm03VaV
https://dl.doubtnut.com/l/_xoET7B3PVkUw
https://dl.doubtnut.com/l/_xkLD2l7RecrS

° Watch Video Solution

31. /tan T dx

° Watch Video Solution

32. Evaluate: ﬁ:an3 rdx

° Watch Video Solution

33. /can3 2x - sec2xdx


https://dl.doubtnut.com/l/_xkLD2l7RecrS
https://dl.doubtnut.com/l/_EshqTPcw5okZ
https://dl.doubtnut.com/l/_z7Z1PyWkPCNH
https://dl.doubtnut.com/l/_eOO4vWin18Xh

° Watch Video Solution

34, /cos ectzdr

° Watch Video Solution

35. /cot3 T cos ec zdx

° Watch Video Solution

dx
36. /
V1 + cos 2z


https://dl.doubtnut.com/l/_eOO4vWin18Xh
https://dl.doubtnut.com/l/_tD5UyQm8eTZc
https://dl.doubtnut.com/l/_RWrwwPrL56FR
https://dl.doubtnut.com/l/_JBdoqoDtegz2

° Watch Video Solution

37. Find / _ dz
SInNx + CoS I

° Watch Video Solution

38. Evaluate: f{ll + 2z(tanx + sec a:)}%daz

o Watch Video Solution

sin x
39. Evaluate / dx

sin(z — )



https://dl.doubtnut.com/l/_JBdoqoDtegz2
https://dl.doubtnut.com/l/_xTkdGZg4oFB2
https://dl.doubtnut.com/l/_TwD2fQeOEwIj
https://dl.doubtnut.com/l/_sIyMOFTG5Idt

° Watch Video Solution

. in(z — a)
40. Evaluate: (i) f dx

” ) sin(z — b)
/sin(a: + «) da

(ii)

° Watch Video Solution

sinx
41. Evaluate/ dzx
V1 -+ sinz

° Watch Video Solution



https://dl.doubtnut.com/l/_sIyMOFTG5Idt
https://dl.doubtnut.com/l/_aw3GBGjxXsUo
https://dl.doubtnut.com/l/_0PFeKNTCCG51

42. Evaluate ﬁ: cos ecz’cot 2 dx

o Watch Video Solution

e” (1 +
43.Find/ (1 +2) dx
cos?(xze?)

o Watch Video Solution

COS T
44. Evaluate / dx

V1 +sinz

o Watch Video Solution



https://dl.doubtnut.com/l/_MjTWpj3H4ckP
https://dl.doubtnut.com/l/_CPwPRDSC2tyQ
https://dl.doubtnut.com/l/_xhG3qgRTCpjr

45. Evaluate /\/ 2 4 sin 3t cos 3tdt

o Watch Video Solution

sin 2x

46. Evaluate / > dzx
a? + b?sin” x

° Watch Video Solution

47. Evaluate /(ta,nm — z)tan® zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_jqDZRNI10bfp
https://dl.doubtnut.com/l/_YElqMd4H27n2
https://dl.doubtnut.com/l/_7ZUiE31tJWIf

5
T
48. Evaluate: / —— dx
v1+ 23

o Watch Video Solution

1+ logx 2
49, Evaluate /( 82) dzx
T

o Watch Video Solution

(sin_ 1 x)3

dr  (ii)
o

50. Evaluate: (i) /

( sin(2 + 3logx)
/ " dx

| = 1



https://dl.doubtnut.com/l/_cpwPhxjOAvz3
https://dl.doubtnut.com/l/_vEAhzLBL1Fjh
https://dl.doubtnut.com/l/_cJnPX4IaCXH5

I &9 Watch Video Solution

1

eatan_ x
51. Evaluate /—da:
1+ z2

o Watch Video Solution

1
52. Evaluate: / dx
et e~ 7%

o Watch Video Solution

53. Evaluate / dz
1+ cotx



https://dl.doubtnut.com/l/_cJnPX4IaCXH5
https://dl.doubtnut.com/l/_47i8a6tTGXPB
https://dl.doubtnut.com/l/_g9iOTFjGzZV6
https://dl.doubtnut.com/l/_3AMaxRRBv9r3

I o Watch Video Solution

1 ril
54. Evaluate 1— — |e* " zdx
22

° Watch Video Solution

og(l + %)
55. Evaluate: dx

z(1l+ x)

° Watch Video Solution



https://dl.doubtnut.com/l/_3AMaxRRBv9r3
https://dl.doubtnut.com/l/_6WyPh9CbCUt1
https://dl.doubtnut.com/l/_QCWM4OsHbVHa

1l—=x

d
1+ x v

56. Evaluate: /

° Watch Video Solution

2
sec“ rtanx

57. Evaluate / dx

S

ec2x + tan?

o Watch Video Solution

58. Evaluate: / dz
z?(z* + 1)

3
4

o Watch Video Solution



https://dl.doubtnut.com/l/_Cr4dHntSFPeT
https://dl.doubtnut.com/l/_CHcn5dRPqHuq
https://dl.doubtnut.com/l/_H4YcD22NFZQo

sin 2x

59. Evaluate / > dz
a?cos?x + b2sin“ x

° Watch Video Solution

tan—! 22
60. Evaluate /2:(: an @ dx
1+ z4

° Watch Video Solution

d
61. Evaluate / v

o Watch Video Solution



https://dl.doubtnut.com/l/_AxsY9TRCqcb2
https://dl.doubtnut.com/l/_OrW24h51isGo
https://dl.doubtnut.com/l/_PzvUF9RAQrVW

62. Evaluate: / a’> — 22 dzx

o Watch Video Solution

1
63. Evaluate: / dx

3
(? — 2?)?

o Watch Video Solution

(sin_ 1 a:)3

dr  (ii)
o

64. Evaluate: (i) /

( sin(2 + 3logx)
/ " dx

| s |



https://dl.doubtnut.com/l/_eUQ8oHzWMUZM
https://dl.doubtnut.com/l/_jd5Yc6FnB6Ef
https://dl.doubtnut.com/l/_iKblTKs5wP9Q

[ ¥ Watch Video Solution

65. Evaluate /d—ac
a? + x2

° Watch Video Solution

5133

dzx

66. Evaluate/
1+ 8

o Watch Video Solution



https://dl.doubtnut.com/l/_iKblTKs5wP9Q
https://dl.doubtnut.com/l/_qUpRpDOiW0Ot
https://dl.doubtnut.com/l/_SpI15jLa61GC

2

1
67. Ify:/ —dr and y =0 when
(14 2?)

x = 0,then valueofywhenz = 1is

° Watch Video Solution

1
68. Evaluate:/ dx
V2 — a2

° Watch Video Solution

1
69. Evaluate: / dx
xvVaxt—1

l o Watch Video Solution


https://dl.doubtnut.com/l/_8WX8V6RleX78
https://dl.doubtnut.com/l/_ZL2ERBovS86r
https://dl.doubtnut.com/l/_inOKUTAqlT0C

€T

70. Evaluate / €
Ve —4

o Watch Video Solution

1 —=x
71. Evaluate / dx
1+ x

° Watch Video Solution

72. Evaluate/ v dx
1l —=x

| oo


https://dl.doubtnut.com/l/_inOKUTAqlT0C
https://dl.doubtnut.com/l/_cMkTnKnvT5H0
https://dl.doubtnut.com/l/_3JmlT5o2FKO0
https://dl.doubtnut.com/l/_iOFxXXW0GOCA

| & Watch Video Solution

dx

73. Evaluate
/m ~a)(b - )

o Watch Video Solution

74. Evaluate fce“” dzx

o Watch Video Solution

75. Evaluate /’p sin 3xdx

f _


https://dl.doubtnut.com/l/_iOFxXXW0GOCA
https://dl.doubtnut.com/l/_PVTS0XVgPPeR
https://dl.doubtnut.com/l/_RVaINHqH5ocN
https://dl.doubtnut.com/l/_WzmPsmlrOLIw

o Watch Video Solution

76. Evaluate fz: cos’ zdzx

° Watch Video Solution

77.Evaluate /:os Vedz

° Watch Video Solution



https://dl.doubtnut.com/l/_WzmPsmlrOLIw
https://dl.doubtnut.com/l/_6BKlmoXQ6tz6
https://dl.doubtnut.com/l/_2IxlSvIBYrwe

78. Evaluate: (i) /(5:13 + 3)y2x — 1dx (ii)

T
dx
/1/a:+a—\/a:+b

o Watch Video Solution

79. Evaluate ﬁog xdx

o Watch Video Solution

80. Evaluate: fv log(1 + x) dz

o Watch Video Solution



https://dl.doubtnut.com/l/_8OHWOwMlWoE6
https://dl.doubtnut.com/l/_tfAMRvfZjuvq
https://dl.doubtnut.com/l/_XPaAQ8jxU2sC

81. Evaluate /c tan ! zdx

o Watch Video Solution

rsin

82. Evaluate / dx
V1 — 2

° Watch Video Solution

83. Evaluate /sec3 rdx

I ° Watch Video Solution


https://dl.doubtnut.com/l/_XPaAQ8jxU2sC
https://dl.doubtnut.com/l/_i5p11u03SItC
https://dl.doubtnut.com/l/_CBs7wW5zGLN4
https://dl.doubtnut.com/l/_YIsUBfCwHfQG

84. Evaluate /\/4 — z%dx

° Watch Video Solution

85. Evaluate /e‘“c sin bxdzx

° Watch Video Solution

86. Evaluate: /(1 + x)log xdx

I ° Watch Video Solution


https://dl.doubtnut.com/l/_YIsUBfCwHfQG
https://dl.doubtnut.com/l/_oWpFAHaX3oF1
https://dl.doubtnut.com/l/_K7JOFRdsl4Ze
https://dl.doubtnut.com/l/_4aM2Joo9htsb

t —1
87./36 = s
(14 x2)?

o Watch Video Solution

.1
sin” " x
88. Evaluate: / dx

72

° Watch Video Solution

logx
89. Evaluate |————

dx
(14 )’

[


https://dl.doubtnut.com/l/_4aM2Joo9htsb
https://dl.doubtnut.com/l/_4yTFJLoZ10sr
https://dl.doubtnut.com/l/_E5ty4OdjM6WE
https://dl.doubtnut.com/l/_OBfCKNVLlfBp

I o Watch Video Solution

90. Find /cos 2z - log(coS LA sy )da:

COST — sInx

o Watch Video Solution

mtan 1z

91. Evaluate /e —dzx
(14 x2)?

° Watch Video Solution



https://dl.doubtnut.com/l/_OBfCKNVLlfBp
https://dl.doubtnut.com/l/_RuVaWKd6WSzl
https://dl.doubtnut.com/l/_P9l1lEosytMe

in"!'y/z —cos™!/z
92. Evaluate — —dzx
sin~!'y/z +cos 1 /z

° Watch Video Solution

[ =
93. Evaluate /sin_1 dx
a-+x

o Watch Video Solution

94. Evaluate /9_"” tan~!(e”)dx

o Watch Video Solution



https://dl.doubtnut.com/l/_kBq2gWVBYmTj
https://dl.doubtnut.com/l/_4PREi36n02CL
https://dl.doubtnut.com/l/_vtru53vzkfKC

95. ﬁog z.sin" ! zdx

o Watch Video Solution

96. Evaluate /e“" (ta,na: + sec? :c) dx

o Watch Video Solution

e”(1 + sinx)
97. Evaluate / dx
1+ coscx

o Watch Video Solution



https://dl.doubtnut.com/l/_DjLQfc9u4lMj
https://dl.doubtnut.com/l/_WuL4Ert5anPY
https://dl.doubtnut.com/l/_6wKAPbgMxeg3

re’

08. Evaluate /—zd:c
(14 x)

o Watch Video Solution

1 1
99, Evaluate — > dzx
logz  (loga)

° Watch Video Solution

(:132 + 1) e”
100. Evaluate / > dzx
(z +1)

o Watch Video Solution



https://dl.doubtnut.com/l/_HTwUPYW6rTkQ
https://dl.doubtnut.com/l/_L9t1foakozNz
https://dl.doubtnut.com/l/_2ByRkygXNzsH

logx
101. Evaluate dx

(1+ logz)®

° Watch Video Solution

sin x
3

102. Evaluate /

> T — sin a:) dx
COS* T

(CL‘ COS

° Watch Video Solution

dzx
103. Evaluate /
V1—2r — x?

o Watch Video Solution



https://dl.doubtnut.com/l/_2ByRkygXNzsH
https://dl.doubtnut.com/l/_jlPoAvKaYGMh
https://dl.doubtnut.com/l/_dnTQU7qe87Up
https://dl.doubtnut.com/l/_Khy5iLxi35r0

104. Evaluate: /\/2m2 + 3z + 4dx

o Watch Video Solution

xXr
105. Evaluate :/ © dzx
Vb — 4e? — 22

o Watch Video Solution

1
106. Evaluate / Tt dzx

V22 + 1 — 3

I o Watch Video Solution


https://dl.doubtnut.com/l/_Khy5iLxi35r0
https://dl.doubtnut.com/l/_8BxBMiZeTbTg
https://dl.doubtnut.com/l/_ZfR4uTS8j0ZW
https://dl.doubtnut.com/l/_7w7N534zr0TD

72
107./ dx
x2 + 6 — 12

o Watch Video Solution

dx
108. Evaluate /—,where T <a
a2 — 2

° Watch Video Solution

d
109. Evaluate /—m

, L > Q

l ° Watch Video Solution


https://dl.doubtnut.com/l/_7w7N534zr0TD
https://dl.doubtnut.com/l/_r9oLZvnmCQLi
https://dl.doubtnut.com/l/_0R4b0eNZtyzp
https://dl.doubtnut.com/l/_x5Pr4g5GPSKh

dzx
110. Evaluate/
z(z" + 1)

o Watch Video Solution

111 Evaluate: / v dz
(z + 2)(3 — 2x)

o Watch Video Solution

2r — 3
112. Evaluate: / dx
(22 — 1)(2z + 3)

| &


https://dl.doubtnut.com/l/_x5Pr4g5GPSKh
https://dl.doubtnut.com/l/_E1Q9H6Gv3Bel
https://dl.doubtnut.com/l/_cbT5e30Rxql5
https://dl.doubtnut.com/l/_J4nTn2235a5E

| ' Watch Video Solution

dx
113. Evaluate/ 5
T {10 + Tlog, = + (log, x) ]

o Watch Video Solution

114. Evaluate: / it dx
(24 cosx)(5 + cosx)

o Watch Video Solution

ZU2

115. Evaluate: dx
/(1 + 23)(2 + z3)



https://dl.doubtnut.com/l/_J4nTn2235a5E
https://dl.doubtnut.com/l/_SBekmsA4AGdQ
https://dl.doubtnut.com/l/_usqbAAnWduO6
https://dl.doubtnut.com/l/_lmPQRgl7CvG6

° Watch Video Solution

2¢ — 1
116. Evaluate: / dx
(z — 1)(z + 2)(xz — 3)

° Watch Video Solution

sin 2x

17. Evaluate:/ - , dx
(1+ sinz)(2 + sinx)

o Watch Video Solution

2
118. Evaluate : / dx

(2 + 1) (x? + 3)



https://dl.doubtnut.com/l/_lmPQRgl7CvG6
https://dl.doubtnut.com/l/_smZElCPTzTAp
https://dl.doubtnut.com/l/_NQhha0CUUgS6
https://dl.doubtnut.com/l/_DuxKlDE3NX75

° Watch Video Solution

3r — 5
119. Evaluate/ 5 dzx
(3z — 2)(z + 1)

o Watch Video Solution

120. Evaluate: / v dzx

(@ +1)(z + 1)

o Watch Video Solution

1
121. Evaluate: / dzx

1+ x+ 22 + 3



https://dl.doubtnut.com/l/_DuxKlDE3NX75
https://dl.doubtnut.com/l/_lTai3qNUP7wX
https://dl.doubtnut.com/l/_Z2svUI3Ky0K1
https://dl.doubtnut.com/l/_3LXJOrUAst7o

° Watch Video Solution

3+ 3z 42
122.Eva|uate:/ TToT dx

(22 +1)*(z + 1)

o Watch Video Solution

(:132 + 1) (CL‘2 + 2)

dx
(% + 3)(z% + 4)

123. Evaluate: /

o Watch Video Solution



https://dl.doubtnut.com/l/_3LXJOrUAst7o
https://dl.doubtnut.com/l/_Xh7hb6nk9FZX
https://dl.doubtnut.com/l/_eGSsi4XwLYqR

124. Evaluate /\/seca: — ldx

o Watch Video Solution

SiInT — COS T
125. Evaluate: dz

\/sin 2x

° Watch Video Solution

\/16 + (logz)’

126. Evaluate: / " dzx

° Watch Video Solution



https://dl.doubtnut.com/l/_uWjH0OrBi0As
https://dl.doubtnut.com/l/_sI6BU3SQRfpR
https://dl.doubtnut.com/l/_mTvclPzs0yAY

sin x

127. Evaluate / dx

SinxT — COS T

° Watch Video Solution

sinx + 3cosx
128. Evaluate: . dx
3sinxz + 4cosx

° Watch Video Solution

1
129. Evaluate: / dx

3+ 2sinx + cos x

° Watch Video Solution



https://dl.doubtnut.com/l/_mTvclPzs0yAY
https://dl.doubtnut.com/l/_hxDBqbPov9JC
https://dl.doubtnut.com/l/_dkpU1OxUms1J
https://dl.doubtnut.com/l/_GVmDgUrbtRCK

1. /(zr:z — bx + 7)da:

o Watch Video Solution

2. /(a,a:3 + bz + cx + d) dx

o Watch Video Solution



https://dl.doubtnut.com/l/_GVmDgUrbtRCK
https://dl.doubtnut.com/l/_9D2JrabU1Z0t
https://dl.doubtnut.com/l/_bweG3Cw666k2

1 1 3
3. /(:c? + 2x2 + :I:?)da:

o Watch Video Solution

2_29
4/(33 x+3)dw
4

° Watch Video Solution

; /(ﬁ+ %)Zm

o Watch Video Solution



https://dl.doubtnut.com/l/_ftzGLTfoCNiK
https://dl.doubtnut.com/l/_Q5eAuPHb7Xt7
https://dl.doubtnut.com/l/_ElLXouPOUWyr

z — 3)*
oV

6 dzx

o Watch Video Solution

dzx

; /(a:3 +1)(z — 2)

x2 —x —2

° Watch Video Solution

3 52_4
8./3[j * f dx dx
xr

° Watch Video Solution



https://dl.doubtnut.com/l/_ElLXouPOUWyr
https://dl.doubtnut.com/l/_ewpZzflmfXGa
https://dl.doubtnut.com/l/_b0VA29Dl5IC2
https://dl.doubtnut.com/l/_PJhZhpfFnUTT

9. (3) / "”':; L iz (1) / (w2/3 + 1)da:

o Watch Video Solution

1
10./332 (1 — —2)d:1;
XI

o Watch Video Solution

11./(1 — ), /cdx

o Watch Video Solution



https://dl.doubtnut.com/l/_PJhZhpfFnUTT
https://dl.doubtnut.com/l/_uvD4pmyeaoiM
https://dl.doubtnut.com/l/_BA1amNlG3gBk
https://dl.doubtnut.com/l/_xBuipnuExoWm

12./<\/_— %)2&%

° Watch Video Solution

13. Find the integral/(Z:c2 + e”)dz

° Watch Video Solution

— 3sinx
14. fZ dx
cos? x

| &


https://dl.doubtnut.com/l/_xBuipnuExoWm
https://dl.doubtnut.com/l/_6f1BI4d8ddVt
https://dl.doubtnut.com/l/_H1XHPZqNdFVH
https://dl.doubtnut.com/l/_DyK3hlKfzjys

| ' Watch Video Solution

15./(2:13 — 3cosz + €)dx

° Watch Video Solution

16. Find the

/(2:32 — 3sinzx + 5\/5) dx

integral

° Watch Video Solution



https://dl.doubtnut.com/l/_DyK3hlKfzjys
https://dl.doubtnut.com/l/_H7zxSwxi22GP
https://dl.doubtnut.com/l/_O2n4LY8YYT3X

1
17./(5(:08:13—4sinm—|— )d:c
cos? x

° Watch Video Solution

sin®z — cos® z
18. 5 dx
1 — 2sin”“ z cos? x

° Watch Video Solution

2 si
o [k,
cos?

° Watch Video Solution



https://dl.doubtnut.com/l/_qLnmFZRDyqsE
https://dl.doubtnut.com/l/_tsEbit0r6RMe
https://dl.doubtnut.com/l/_7IL9BPelOfcu

3 .3
cos® x + 7sin’ x
20./‘5 dx

sin® x cos? z

° Watch Video Solution

e*sinx +cotx + rsinx
21. T

sin x

° Watch Video Solution

22. /Sec(ll + 12z)tan(11 + 12x)dx

° Watch Video Solution



https://dl.doubtnut.com/l/_sGkZp1z1hAS5
https://dl.doubtnut.com/l/_TPe9LbiV0Ebl
https://dl.doubtnut.com/l/_DCmpLjtGfRJQ

dy 5

d_ =cosx +secx and when
T

x =0,y = 0,what is y?

23. If

o Watch Video Solution

24. Find the anti derivative F of f defined by

f(z) = 4z — 6, where F(0) = 3

° Watch Video Solution

1
25./ dz
vVe+a++/x+b



https://dl.doubtnut.com/l/_uYKpH2Ma4cGf
https://dl.doubtnut.com/l/_Wpj0JiGmkW4b
https://dl.doubtnut.com/l/_Zsrn62pPmpHa

o Watch Video Solution

26/ dx
. VT + 33—z +2

° Watch Video Solution

dx
27./
Vo + 3z + 4+ 3x

O Watch Video Solution

T

1
28. Evaluate: / d
V1 —2x + /3 — 2x


https://dl.doubtnut.com/l/_Zsrn62pPmpHa
https://dl.doubtnut.com/l/_DdBQkuIBkFSc
https://dl.doubtnut.com/l/_UWOO5rD0JcOk
https://dl.doubtnut.com/l/_aXDsz9CuK1cz

° Watch Video Solution

29. /\/ax + bdx

° Watch Video Solution

30. /62“”+3d:c

° Watch Video Solution

2 —_—
31. Evaluate /ac 1 dzx
x2 +1


https://dl.doubtnut.com/l/_aXDsz9CuK1cz
https://dl.doubtnut.com/l/_fE6mVDtXyaRG
https://dl.doubtnut.com/l/_O1KKcqpjrEVY
https://dl.doubtnut.com/l/_nlckivdNprqi

° Watch Video Solution

32. /Sin2(2213 + 5)dx

° Watch Video Solution

33. Evaluate /cos2 rdx

° Watch Video Solution

34. /sin3(2:c + 1) dz


https://dl.doubtnut.com/l/_nlckivdNprqi
https://dl.doubtnut.com/l/_a8pC0SSA6xZg
https://dl.doubtnut.com/l/_f5UWAOqC1pwi
https://dl.doubtnut.com/l/_vEiF5emZFEWh

° Watch Video Solution

35. /sm x cos® zdzx

° Watch Video Solution

36. /can2 xdx

° Watch Video Solution

37. /sec2 x cos ec’xdx


https://dl.doubtnut.com/l/_vEiF5emZFEWh
https://dl.doubtnut.com/l/_pNrCIgB6w9b4
https://dl.doubtnut.com/l/_JRv8V2OvP3Ev
https://dl.doubtnut.com/l/_Qh2eKz7Y8Id7

° Watch Video Solution

38. /(co‘c2 2r + tan? 3:1:) dx

° Watch Video Solution

39. /(tan:c + cot z)’dz

° Watch Video Solution

40. / sin” z dz

1+ cosx


https://dl.doubtnut.com/l/_Qh2eKz7Y8Id7
https://dl.doubtnut.com/l/_QoLXP9aLAn7M
https://dl.doubtnut.com/l/_LkKNfOKhEDob
https://dl.doubtnut.com/l/_T5LWcSQO2lXV

° Watch Video Solution

cos 2x + 2 sin?

41. Integrate the functions 5
Cos* T

° Watch Video Solution

42, /sin4 xdx

° Watch Video Solution

43. /\/1 + cos 2zdx


https://dl.doubtnut.com/l/_T5LWcSQO2lXV
https://dl.doubtnut.com/l/_z8BQOnXCK03F
https://dl.doubtnut.com/l/_2RajNkNdugW6
https://dl.doubtnut.com/l/_zRey2LigCAjV

° Watch Video Solution

44. /\/1 + Siﬂ(%)dm

o Watch Video Solution

45./ T dw
1+ coszx

o Watch Video Solution

6. / ST
secxr + tanczx


https://dl.doubtnut.com/l/_zRey2LigCAjV
https://dl.doubtnut.com/l/_hXakQdMms1RS
https://dl.doubtnut.com/l/_AThhxVLi1W2m
https://dl.doubtnut.com/l/_I8Ee1OQbtGUc

° Watch Video Solution

47. If /\/1 + sin2zdx = /2sin(z + a) + b,

then find values of a and b.

o Watch Video Solution

48. /‘sin 4x cos 3xdzx

o Watch Video Solution



https://dl.doubtnut.com/l/_I8Ee1OQbtGUc
https://dl.doubtnut.com/l/_PUVjyArrEL6i
https://dl.doubtnut.com/l/_Fb5EZwvgKCLL

49, /cos 2x cos 4xdx

o Watch Video Solution

50. /sin 3z sin (% ) dzx

o Watch Video Solution

51. /sm x cos 2xdx

o Watch Video Solution



https://dl.doubtnut.com/l/_SPKXx3GUwFoA
https://dl.doubtnut.com/l/_YLNva3YmGfFq
https://dl.doubtnut.com/l/_4TeUcGu0whTo

52. Evaluate the following

1—cosZ:13d
1 + cos 2x v

integrals

o Watch Video Solution

COS 21
53. > dx
sin” x cos? x

o Watch Video Solution

sin? z

54 /4 — Hcoszx du

° Watch Video Solution



https://dl.doubtnut.com/l/_UG7l7M3WTfiN
https://dl.doubtnut.com/l/_nA7AhSuKttbr
https://dl.doubtnut.com/l/_J1qu50rqJ5Cp

55./300533 + 4d:1:

sin?

° Watch Video Solution

56. Evaluate : fsec2(7 — 4z)dz

° Watch Video Solution

57.ﬁ:an2(2zc — 3)dz

° Watch Video Solution



https://dl.doubtnut.com/l/_J1qu50rqJ5Cp
https://dl.doubtnut.com/l/_cflNY7Jq110y
https://dl.doubtnut.com/l/_ENcwO37gZiz9
https://dl.doubtnut.com/l/_abqGEyMRI7H1

58. Evaluate: (i)
/sin_l(cos z)dz, 0 <z < (i) inttan”(-1)

{sqrt(((1-cos2x)/(1+cos2x)))}\ dx \\ O

° Watch Video Solution

59. Evaluate: (i)
/sin_l(cos z)dz, 0 <z < (i) inttan”(-1)

{sqrt(((1-cos2x)/(1+cos2x)))}\ dx \\ O

° Watch Video Solution



https://dl.doubtnut.com/l/_abqGEyMRI7H1
https://dl.doubtnut.com/l/_1umO6cUmNZlU
https://dl.doubtnut.com/l/_YpSmVGwagvRQ

1 — tan?
60./cosl( an m)daz
1+ tan

o Watch Video Solution

61. Evaluate: (i) /:anl( Sin 22 ) dx (ii)

1 + cos 2z
ﬁ:os_l(sina:) dz

o Watch Video Solution

e510gx _ e4logx
62. dz
edlogz __ o2logx



https://dl.doubtnut.com/l/_YpSmVGwagvRQ
https://dl.doubtnut.com/l/_jrwBxOZHDchm
https://dl.doubtnut.com/l/_KXVRgSsR4LAU
https://dl.doubtnut.com/l/_UkZsav6KhM34

Watch Video Solution

T

log v/
63. / c " dx

° Watch Video Solution

64. /(:I: + 2)4/3x + bdz

° Watch Video Solution

65./(:1: —1)y/z + 1dz



https://dl.doubtnut.com/l/_UkZsav6KhM34
https://dl.doubtnut.com/l/_9BrViyVqQqVo
https://dl.doubtnut.com/l/_5vLvAEnOogNV
https://dl.doubtnut.com/l/_39PRgzjRoXJ8

\ ° Watch Video Solution

66./33\/2:13 + 1dx

° Watch Video Solution

67./13(3:13 —5)'dx

° Watch Video Solution

68. /(:1: +2) V7 = 3da



https://dl.doubtnut.com/l/_39PRgzjRoXJ8
https://dl.doubtnut.com/l/_YVFVFH3AgNUj
https://dl.doubtnut.com/l/_yf04K8pF8mkY
https://dl.doubtnut.com/l/_puQZORsxvHAv

\ ° Watch Video Solution

69. /(aa: + b)\/cx + ddz

° Watch Video Solution

70.f1;\/a:1: + bdx

° Watch Video Solution

71. frzw/w + 2dx



https://dl.doubtnut.com/l/_puQZORsxvHAv
https://dl.doubtnut.com/l/_TyAzlpDvmSWM
https://dl.doubtnut.com/l/_udXSgf9AAemK
https://dl.doubtnut.com/l/_uV3BgJKL5l40

\ ° Watch Video Solution

72. /(23;2 +3)yz + 2da (ii)

/w2—|—3:c—|—1
> dx
(z 4+ 1)

° Watch Video Solution

73. / v dzx
vz +5

o Watch Video Solution



https://dl.doubtnut.com/l/_uV3BgJKL5l40
https://dl.doubtnut.com/l/_hU6WQslQ7ja4
https://dl.doubtnut.com/l/_n0st82AKMg9x

74/ VT +2dx ||/

w_

o Watch Video Solution

x? N 2 — 1
75./ dx (ii) /— dx
V3z + 4 (z — 1)

o Watch Video Solution

24+ 3z +2
76./w Tt dx
(z —2)(xz + 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_n0Qr1tgGOQtY
https://dl.doubtnut.com/l/_uBQjLUOa4jPY
https://dl.doubtnut.com/l/_RFz2Ep5l53Ax

° Watch Video Solution

78. /sin3 xdx

° Watch Video Solution

79. [cos® zdzx

° Watch Video Solution



https://dl.doubtnut.com/l/_uwYXzGKCi3I0
https://dl.doubtnut.com/l/_oL9PFiX7nw68
https://dl.doubtnut.com/l/_HZPc4u0Z12YK

80. /sm x cos xdx

° Watch Video Solution

81. /cos z sin® zdx

° Watch Video Solution

3
82. /sinZ x cos xdx

° Watch Video Solution



https://dl.doubtnut.com/l/_HZPc4u0Z12YK
https://dl.doubtnut.com/l/_esSUUL830PMl
https://dl.doubtnut.com/l/_zFaN7CzcXhzh
https://dl.doubtnut.com/l/_RZz0lECfmQ7y

83. [sin® z sin 2zdx

° Watch Video Solution

84. [sin z cos® zdzx

° Watch Video Solution

85. /cos z tan® zdz

° Watch Video Solution



https://dl.doubtnut.com/l/_RZz0lECfmQ7y
https://dl.doubtnut.com/l/_gYGfDvSO341e
https://dl.doubtnut.com/l/_Qo6VQqndHtJ2
https://dl.doubtnut.com/l/_lBpcd0do7n9d

86 / cos® J
. T
\/sinzx

° Watch Video Solution

sec 6
7. / a0
tan2 6

° Watch Video Solution

88. /:os T - 9857 g

° Watch Video Solution



https://dl.doubtnut.com/l/_lBpcd0do7n9d
https://dl.doubtnut.com/l/_KbPyTUdFbU5K
https://dl.doubtnut.com/l/_SCot60pH6Hva
https://dl.doubtnut.com/l/_02tcgRop1QCy

89. /sin3 2xdx

o Watch Video Solution

90. /:057 az sin axdzx

o Watch Video Solution

dx
o1. / 5 equals(A) tanxz + cotz + C
sin” x cos2 ¢

(B) tanxz — cot z + C(C) tanxz cotx + C (D)


https://dl.doubtnut.com/l/_02tcgRop1QCy
https://dl.doubtnut.com/l/_SYeqHiLZEpBt
https://dl.doubtnut.com/l/_RYWYxDOLAyDd
https://dl.doubtnut.com/l/_FZuhWaGkd6fY

tanx — cot 2 + C

o Watch Video Solution

d
92. / 3 v
sin® x cos® x

o Watch Video Solution

93. / Coiw dz

sin®’

° Watch Video Solution



https://dl.doubtnut.com/l/_FZuhWaGkd6fY
https://dl.doubtnut.com/l/_F7pmYICwqTuX
https://dl.doubtnut.com/l/_ABKIUGRo39wj
https://dl.doubtnut.com/l/_GBAQK4KDaczt

dzx
94. / - dx
4sin 2x cos? x

o Watch Video Solution

95, / sin62a: + cos® i "
sin” x - cos? z

tanx + cotx + 3z + C (i)

tanx +cotx — 3z + C (iii)

tanx — cotxz — 3z + C (iv)

tanxz —cotx + 3z + C

° Watch Video Solution



https://dl.doubtnut.com/l/_GBAQK4KDaczt
https://dl.doubtnut.com/l/_P2tv3HgjZEXd

96. fcan x sec’ zdx

o Watch Video Solution

97. fcan5 0 sec* df

o Watch Video Solution

08. /sec6 xdx

o Watch Video Solution



https://dl.doubtnut.com/l/_V3on5x3QXop5
https://dl.doubtnut.com/l/_4EGqyJjCcPc0
https://dl.doubtnut.com/l/_SOagWR4QB17I

99. /sec3 x tan xdx

o Watch Video Solution

100. /sec6 r tan zdzx

o Watch Video Solution

101. /secn z tan zdz, n!=0

o Watch Video Solution



https://dl.doubtnut.com/l/_xQ18JiVMqbfz
https://dl.doubtnut.com/l/_HjFrsU3LfizZ
https://dl.doubtnut.com/l/_0yryu5NnDGdL

102. /sec3 x tan xdzx

o Watch Video Solution

103. /can3 2x sec2xdx

o Watch Video Solution

104. /sec% T tan xdx

o Watch Video Solution



https://dl.doubtnut.com/l/_ygzQ4K2U4EdH
https://dl.doubtnut.com/l/_duryYQHRP9B5
https://dl.doubtnut.com/l/_jCR6YfpgFAgY

105. /can5 xdx

o Watch Video Solution

106. /cotn cos ec’zdzx, nl=-1

o Watch Video Solution

107. f:ot3 xdx

o Watch Video Solution



https://dl.doubtnut.com/l/_6kXhU4m3pida
https://dl.doubtnut.com/l/_h6STY1K5QCZy
https://dl.doubtnut.com/l/_JGLxVhZkYGa5

108. /cot4 xdx

o Watch Video Solution

.9
S
109./ =7 _da
(1 + cosx)

° Watch Video Solution

. 1 — cos 2x
110. Evaluate: (i) 1T cos 22 d

/\/1—|—cos:v
dzx
1 — coszx

L

l a Watch Video Solution


https://dl.doubtnut.com/l/_dUcY9LMNI0j9
https://dl.doubtnut.com/l/_QDNiKrVK6NhM
https://dl.doubtnut.com/l/_m94bfTfcUhcf

1
11. Evaluate: (i) / dx (i)
V1 — cos 2z

1
/ dx
V1 -+ cosz

O Watch Video Solution

112. /sec(a,a: + b)dx

° Watch Video Solution



https://dl.doubtnut.com/l/_m94bfTfcUhcf
https://dl.doubtnut.com/l/_heMso6jrU504
https://dl.doubtnut.com/l/_pS8aFclwAcLY

113. / dz_
COSXTX — Ss1Inx

o Watch Video Solution

14. / dz
cos T sin’

° Watch Video Solution

1+ cosx
115./ + dx
sin

° Watch Video Solution



https://dl.doubtnut.com/l/_OElPfihUXn6A
https://dl.doubtnut.com/l/_nXcwK2ymTP7f
https://dl.doubtnut.com/l/_QxRn6VEvGv6C

116. / de
V3cosz + sinz

° Watch Video Solution

117./ T i
b+ atanzx

° Watch Video Solution

dzx
118./,
sinx + tanx

° Watch Video Solution



https://dl.doubtnut.com/l/_JUDcMDNl8vpR
https://dl.doubtnut.com/l/_5wZsP4Ck7I0S
https://dl.doubtnut.com/l/_scl3nxXQ7rkr

19. / _dz
sinx cos? x

o Watch Video Solution

dzx

120.

V13 +5cosz — 12sinz

° Watch Video Solution

sinx
121. Example: — dz
sin(z + a)

° Watch Video Solution



https://dl.doubtnut.com/l/_P9IBPSJMa8pi
https://dl.doubtnut.com/l/_B08DCYgLtNSv
https://dl.doubtnut.com/l/_LTzsrNJLrDh8

sinz
122. /
v/1 + cos :1:

o Watch Video Solution

sin 2x
123. / - dx
sin(z — a)sin(z + «)

o Watch Video Solution

124. / VT e

T

° Watch Video Solution



https://dl.doubtnut.com/l/_l6LteIEIvGuJ
https://dl.doubtnut.com/l/_GFfD8wH0I4Sh
https://dl.doubtnut.com/l/_UZzVv566LSup

1 1
125. /— sin (—) dx
x2 x

° Watch Video Solution

126. /e“' cos(e” + 2)dx

° Watch Video Solution

127, /sm vr+1

:c—l—l

o Watch Video Solution



https://dl.doubtnut.com/l/_Hb0rmG9pWq3E
https://dl.doubtnut.com/l/_XnHMa7WzKIHW
https://dl.doubtnut.com/l/_wb6yqB64RX2O

128. fczsec r3dz

o Watch Video Solution

129. fc% sin (:cé) dzx

o Watch Video Solution

cos(log x
130./ og, )d:c

T

o Watch Video Solution



https://dl.doubtnut.com/l/_OFTamtB31sba
https://dl.doubtnut.com/l/_X7FM1IpPEc0t
https://dl.doubtnut.com/l/_l2JPCuIJtXyD

2(1
131. fec ogz) dx

T

° Watch Video Solution

dzx

cos ec?(log
132./ (log z)

T

o Watch Video Solution

VT

2
an \/x sec” \/x
133./‘: \/_ dx

o Watch Video Solution



https://dl.doubtnut.com/l/_XO3GKcmDzjD2
https://dl.doubtnut.com/l/_B2iVbyDDHjN0
https://dl.doubtnut.com/l/_sVuR12RLSyyT

1
134. / dx
x cos?(log, )

o Watch Video Solution

135. /e""ta,n e‘sece’dx

o Watch Video Solution

sec? ve+1

136. dx

vr+1

° Watch Video Solution



https://dl.doubtnut.com/l/_kosjOGMDCewA
https://dl.doubtnut.com/l/_Qug09E2NwMZm
https://dl.doubtnut.com/l/_5Ji7s8xo9bc9

137. /sin x sin(cos x)dx

o Watch Video Solution

in./x

Jz

138. Evaluate: (i)
x+1)e”
[,
sin”(x e*)

° Watch Video Solution

dx (i1)

cosvar + bda:
var +b

| €8 |

139.



https://dl.doubtnut.com/l/_iAKkkW7GFxyo
https://dl.doubtnut.com/l/_A9b6KLVsVCUk
https://dl.doubtnut.com/l/_B1NdRbqKOAUP

| ¥ Watch Video Solution

1+ 2

140. fin(tanl a:) o

° Watch Video Solution

COS T

141.Eva|uate:/ 2d.:c
(1 + sinx)

o Watch Video Solution

sin
142. Evaluate: / dx
1+ cosx

[


https://dl.doubtnut.com/l/_B1NdRbqKOAUP
https://dl.doubtnut.com/l/_pLRZpunvqSe3
https://dl.doubtnut.com/l/_GySuQUNyuVyH
https://dl.doubtnut.com/l/_1jEtPaiD2tau

I o Watch Video Solution

sinx
143. Evaluate: / 5 dzx
(1+ cosx)

° Watch Video Solution

SGC2 Wi

144. Evaluate: / dx
V1 -+ tanz

o Watch Video Solution

COS T

145. Evaluate: / > dx
1+ sin“x



https://dl.doubtnut.com/l/_1jEtPaiD2tau
https://dl.doubtnut.com/l/_IAtfGzErY86L
https://dl.doubtnut.com/l/_ZmjfTKYktV1C
https://dl.doubtnut.com/l/_pzzrKzdP9ZDx

° Watch Video Solution

146. Find /cos 6x+/1 + sinb6xdz

° Watch Video Solution

sinx + coszx
147. Evaluate: / _ dx
sinx — Ccos

° Watch Video Solution

cosxr — 3sinx
148. Evaluate: /2 —dx
6cosx + 4sinx


https://dl.doubtnut.com/l/_pzzrKzdP9ZDx
https://dl.doubtnut.com/l/_kBxwFRb9LEeU
https://dl.doubtnut.com/l/_WZbIFFU4iq9H
https://dl.doubtnut.com/l/_IYBhKFtfrOvv

° Watch Video Solution

sec2 T

149. Evaluate: / dz
1 — tan?

o Watch Video Solution

150. Evaluate: / dz

cos? (1 — tanz)®

° Watch Video Solution



https://dl.doubtnut.com/l/_IYBhKFtfrOvv
https://dl.doubtnut.com/l/_FlI19qpSVbUZ
https://dl.doubtnut.com/l/_WI6KOLJt93kb

151. Choose the correct answers

cos 2x ,
/ ( dzis equal(A)

sinx + cos x)

, + C (B) log|sinz + cosx| + C
SINT + COST

C) log|sinxz — cos z| + C (D) 5
(sinz + cos x)

° Watch Video Solution

COS X — sIinx
152. Evaluate:/ - dx
1+ sin2x

o Watch Video Solution



https://dl.doubtnut.com/l/_Qk11XdWB7neh
https://dl.doubtnut.com/l/_Uvh0EiPNJvdR

153. Evaluate: /(cot z + x)cot? zdx

o Watch Video Solution

154. Evaluate: /\/sin 2x cos 2xdx

o Watch Video Solution

155. Evaluate: /(43: + 3)v/42? + 6z + 1d=

o Watch Video Solution



https://dl.doubtnut.com/l/_8hInRzalMoY7
https://dl.doubtnut.com/l/_yMOKlO9rhX89
https://dl.doubtnut.com/l/_RizLHiy7EdHP

156. Evaluate: /:c 1+ z%dx

o Watch Video Solution

157. Evaluate: /ac 1+ 22%dx

o Watch Video Solution

3z — 1
158. Evaluate: dzx
V3x2 — 22+ 7

° Watch Video Solution



https://dl.doubtnut.com/l/_25DCLerjhORp
https://dl.doubtnut.com/l/_GXBeeeGCvr7t
https://dl.doubtnut.com/l/_lS89wz5NZ0jO

159. Evaluate: /(:c — 1)y/2? — 2zdx

o Watch Video Solution

2ax + b
160. Evaluate: dzx
ar? + bxr + ¢

o Watch Video Solution

dzx

2x
161. Evaluate:/
1+ x2

o Watch Video Solution



https://dl.doubtnut.com/l/_BA637cyLiB0G
https://dl.doubtnut.com/l/_AN3nUtk2Stgz
https://dl.doubtnut.com/l/_gQlkSCrutOue

332

162. Evaluate: / dzx

3 +1

o Watch Video Solution

w2

163. Evaluate:/ 3 dx
(2 + 3z?)

o Watch Video Solution

T
164. Evaluate: / dzx

Vaz — 12

o Watch Video Solution



https://dl.doubtnut.com/l/_RJWTpP6WfVF7
https://dl.doubtnut.com/l/_7R7UMirbcB7M
https://dl.doubtnut.com/l/_GZ9WOWSnoX41

165/ x dr
(az? + b)”

° Watch Video Solution

166. Evaluate: fc3\/:v2 + 5dx

° Watch Video Solution

167. Evaluate: fzj2\/a3 + z3dz

° Watch Video Solution



https://dl.doubtnut.com/l/_BSFmItRTJwDS
https://dl.doubtnut.com/l/_jc6FZLAtsoB8
https://dl.doubtnut.com/l/_kc5FzwETSVwb

1
168. Evaluate: /(:c3 — 1) 3p0dx

o Watch Video Solution

169. Evaluate: /L dzx

9 — 42

o Watch Video Solution

3
170. Evaluate: / dzx

V2 + 3

o Watch Video Solution



https://dl.doubtnut.com/l/_O2HRClHDbSda
https://dl.doubtnut.com/l/_7MoAFqp3HMG6
https://dl.doubtnut.com/l/_xaTpjCcdH90D

L

171. Evaluate: / dz

3
(* — a?)?

o Watch Video Solution

1
172. Evaluate: /—dw
z log,

° Watch Video Solution

dz
173. Evaluate: / —,x >0
z(logx)

° Watch Video Solution



https://dl.doubtnut.com/l/_CQYCk063C2Fk
https://dl.doubtnut.com/l/_EnWWH9qPjVPR
https://dl.doubtnut.com/l/_D16Adydq74TJ

174. Evaluate: / dz 5
z(1+ log, x)

° Watch Video Solution

tanx
175. Evaluate: / dx
log, cos

o Watch Video Solution

176. Evaluate: /cot z log, sinxdx

o Watch Video Solution



https://dl.doubtnut.com/l/_jzy46otkGIHT
https://dl.doubtnut.com/l/_ZwR8kuYdIzY2
https://dl.doubtnut.com/l/_ybBlo9ELijmx

cot x
177. Evaluate: /—,d:c
logsinx

o Watch Video Solution

1
178. Evaluate: / dx

x log = log(log x)

° Watch Video Solution

T

179.Eva|uate:/ ¢

ex+2dw

° Watch Video Solution



https://dl.doubtnut.com/l/_yBXHSBaFfdVH
https://dl.doubtnut.com/l/_0v3p2uuZxdjf
https://dl.doubtnut.com/l/_oufpv4nu7mY5

180. Evaluate: / € > dzx
(3 —e”)

o Watch Video Solution

181. Evaluate: /eta’n"” sec zdx

o Watch Video Solution

182. Evaluate: ﬁce‘”zdw

o Watch Video Solution



https://dl.doubtnut.com/l/_qGyNdu26dmzo
https://dl.doubtnut.com/l/_1iPgV7hlHyP7
https://dl.doubtnut.com/l/_ResfgncwbYaB

T
183. Evaluate: /—2 dzx
ew

o Watch Video Solution

tan 1 az)2
184. Evaluate: / dzx
1+ 22

° Watch Video Solution

185. Evaluate: / dz
(1+ z2)tan 1z

° Watch Video Solution



https://dl.doubtnut.com/l/_ktDC051GGV3y
https://dl.doubtnut.com/l/_IWoAA2BhMNvB
https://dl.doubtnut.com/l/_uPHyDjp6RBJU

esin_1 T
186. Evaluate: / dx

1 — 22

o Watch Video Solution

1
187. Evaluate: / dzx

V1—x2cos 1z

o Watch Video Solution

2 ~1..3
t

188. Evaluate: /a: a7 dx
14+ 26

o Watch Video Solution



https://dl.doubtnut.com/l/_bpFWqX2f6iMl
https://dl.doubtnut.com/l/_Oj8OUrjTx3RI
https://dl.doubtnut.com/l/_0Q0xXVZviOOH

189./(2:13 + 4)\/2? + 4z + 3dz

o Watch Video Solution

+x? 1
190. Evaluate: /1 5 et~ id:c
T

o Watch Video Solution

1
191. Evaluate: /—da:
NCE

o Watch Video Solution



https://dl.doubtnut.com/l/_oQDEifEKOBFR
https://dl.doubtnut.com/l/_0kQbGXpB7Rts
https://dl.doubtnut.com/l/_JMK1rALApEq5

2

tan? x sec? x
192. Evaluate: dzx
1+ tan® x

° Watch Video Solution

1
193. Evaluate:
/:c log x log(log x)dx

o Watch Video Solution

e2m
194. Evaluate: /

dzx
4/e* + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_38LIR0dSzA5Q
https://dl.doubtnut.com/l/_ajEor84AuDPO
https://dl.doubtnut.com/l/_kBQ0dmcCtyhw

195. / dz
.’I?\/CUzn . a2n

° Watch Video Solution

196. Evaluate: /\/seca; + ldx

° Watch Video Solution

sin 2x
197. Evaluate: / dzx

sin*x + cos? x

o Watch Video Solution



https://dl.doubtnut.com/l/_61PnP9QG9vrN
https://dl.doubtnut.com/l/_tgorb0rdPIZV
https://dl.doubtnut.com/l/_bqeZr9L2LOSK

xe—l o ea:—l

198. Evaluate: / dzx
xe _ eac

o Watch Video Solution

1
199. Evaluate: / + cos 0 db

6 + sin@

o Watch Video Solution

1+t
200. Evaluate: / ttanz dzx

x + logsecx

° Watch Video Solution



https://dl.doubtnut.com/l/_RyVhe89XmR4W
https://dl.doubtnut.com/l/_yoMt5M86pzGK
https://dl.doubtnut.com/l/_Ph6AsFY0QBGP

(3 tan? z + 2) sec?
201. Evaluate: / dzx
(tan®z + 2tanz + 5)

o Watch Video Solution

+ sin 2x
202. Evaluate: /'I dx
T

+ sin? z

° Watch Video Solution

dzx
T —z

203. Evaluate:

o Watch Video Solution



https://dl.doubtnut.com/l/_6ofLi5PBnkof
https://dl.doubtnut.com/l/_YAtSt9rJ3Sm9
https://dl.doubtnut.com/l/_GSqqICIUPAZU

1 — cotx
204. Evaluate: / dzx

1+ cotx

o Watch Video Solution

1

tan™ ‘' x

dx

205. Evaluate: /e
1+ x2

° Watch Video Solution

an? /T sec? \/z

t
206. Evaluate: / dzx

Jz

o Watch Video Solution



https://dl.doubtnut.com/l/_fukngp42XKNO
https://dl.doubtnut.com/l/_talP8JnDxDvs
https://dl.doubtnut.com/l/_kr0zSkeQ5tkl

tan x sec?

207. Evaluate: / dx
1 — tan?x

° Watch Video Solution

dzx

208. Evaluate: / a
b + ce®

° Watch Video Solution

sin 2x

209. Evaluate: /

(a + bcos :J[:)2

° Watch Video Solution



https://dl.doubtnut.com/l/_MZP6Yf4khykE
https://dl.doubtnut.com/l/_TkOFjPYN85Rb
https://dl.doubtnut.com/l/_0gJfG911tunB

25
210. Evaluate: / dzx

v1+ x2

o Watch Video Solution

211. Evaluate: /e?’k’ggC (1 + :c4) “dz

o Watch Video Solution

(z +1)*(z — 1)°

212. / d
J

o Watch Video Solution



https://dl.doubtnut.com/l/_aUneF9KRaf7q
https://dl.doubtnut.com/l/_BJf0IbtsSsBz
https://dl.doubtnut.com/l/_20NnBW3e3Y3e

213. Evaluate:
dzx

mwog(m FVIT )

o Watch Video Solution

214. /[f(aa: +0)]"f'(ax + b)dz

o Watch Video Solution



https://dl.doubtnut.com/l/_20NnBW3e3Y3e
https://dl.doubtnut.com/l/_ecnAwZO4HOad
https://dl.doubtnut.com/l/_8fk29TcZ7DRR

sin® z sin(x + «)

215. / \/ dz
3

° Watch Video Solution

216. Evaluate: /\/1 — 2%dx

° Watch Video Solution

dzx

l1—=x

217. Evaluate: / >

o Watch Video Solution



https://dl.doubtnut.com/l/_7wrpjLILK2UI
https://dl.doubtnut.com/l/_KSpQpyBdjU8A
https://dl.doubtnut.com/l/_diDfKijuKGVY

dx
22/ a2 — 12

218. Evaluate:

° Watch Video Solution

1 2
219, Evaluate:/ e dzx

Vv1—zx2

o Watch Video Solution

2x
220. Evaluate: / dzx

V1 —zt

° Watch Video Solution



https://dl.doubtnut.com/l/_diDfKijuKGVY
https://dl.doubtnut.com/l/_Dy0BGlA3ibLo
https://dl.doubtnut.com/l/_dCTkgTrZxnaf
https://dl.doubtnut.com/l/_lEeVInnXvC4y

CE2

221. Evaluate: / dx

vV1— 26

° Watch Video Solution

222. Evaluate: / dz
V4 — z?

O Watch Video Solution

COS T

223. Evaluate: / 5

4 — sin“x

I ° Watch Video Solution



https://dl.doubtnut.com/l/_lEeVInnXvC4y
https://dl.doubtnut.com/l/_k5EkLCXLcDve
https://dl.doubtnut.com/l/_3tJhIGNffkNi
https://dl.doubtnut.com/l/_5yLNWapfQpCA

224. Evaluate: / dz
9 + 2

° Watch Video Solution

r+1
225. Evaluate: dx

V14 x?

o Watch Video Solution

226./ T dz
1+ x4

l o Watch Video Solution


https://dl.doubtnut.com/l/_5yLNWapfQpCA
https://dl.doubtnut.com/l/_qBvPpsJY0xaO
https://dl.doubtnut.com/l/_epVuLZy061HV
https://dl.doubtnut.com/l/_AJJEFT46vBDs

$5

227. Evaluate: / dx

1+ 12

o Watch Video Solution

dx
x2y/1 + 2

228. Evaluate:

o Watch Video Solution

6233

229. Evaluate: / dx

1+ etz

| &


https://dl.doubtnut.com/l/_AJJEFT46vBDs
https://dl.doubtnut.com/l/_lGTayNflj7xn
https://dl.doubtnut.com/l/_j8wVpbfUxsTy
https://dl.doubtnut.com/l/_rMTIOODtiE53

| ' Watch Video Solution

et —1
230. Evaluate:

d
e? +1 v

o Watch Video Solution

dzx
xvax? —1

231. Evaluate:

° Watch Video Solution

232. Evaluate: / - dzx
(? = a?)?



https://dl.doubtnut.com/l/_rMTIOODtiE53
https://dl.doubtnut.com/l/_JJ2hvhzUyJqX
https://dl.doubtnut.com/l/_YM1g9Uzx0UWi
https://dl.doubtnut.com/l/_qjIfGs3YCUno

\ o Watch Video Solution

233. Evaluate: / ¢ dzx

Ve —9

o Watch Video Solution

dzx
234. Evaluate: /
ve2r —1

° Watch Video Solution

a—x

dzx

235. Evaluate: /
a-+x


https://dl.doubtnut.com/l/_qjIfGs3YCUno
https://dl.doubtnut.com/l/_OLL0kpaN4gN5
https://dl.doubtnut.com/l/_y8xbvmhJtEn7
https://dl.doubtnut.com/l/_KzThlUYtBoPd

° Watch Video Solution

1+«
1—=x

dzx

236. Evaluate: /

o Watch Video Solution

237. Evaluate: fceh dx

o Watch Video Solution

238. Evaluate: fc cos xdx


https://dl.doubtnut.com/l/_KzThlUYtBoPd
https://dl.doubtnut.com/l/_HaBeoM8cPfpr
https://dl.doubtnut.com/l/_q8KeAyDdYqrD
https://dl.doubtnut.com/l/_8mqTicF3sZm6

° Watch Video Solution

239. Evaluate: /x sin 2xdx

° Watch Video Solution

240. Evaluate: ﬁc cos xdx

° Watch Video Solution

241. Evaluate: ﬁ: cos(2z + 3)dx


https://dl.doubtnut.com/l/_8mqTicF3sZm6
https://dl.doubtnut.com/l/_wV1Ysq6w13Rv
https://dl.doubtnut.com/l/_MOtOX5l7Zxy7
https://dl.doubtnut.com/l/_VgZKdtynwZpg

° Watch Video Solution

242, Evaluate: /(:1: + 1)cos zdx

° Watch Video Solution

243. Evaluate: /:c sin 2x cos 2xdx

° Watch Video Solution

244. Evaluate: ﬁc sin x sin 2xzdx


https://dl.doubtnut.com/l/_VgZKdtynwZpg
https://dl.doubtnut.com/l/_R0nzHewFxAug
https://dl.doubtnut.com/l/_1FXyauxfQFJU
https://dl.doubtnut.com/l/_y4wnPi82T950

° Watch Video Solution

245. Evaluate: ﬁc cos ax cos bxdzx

° Watch Video Solution

246. Evaluate: ﬁc sin 2z sin 3z dx

° Watch Video Solution

247. Evaluate: /:c sec’ zdx


https://dl.doubtnut.com/l/_y4wnPi82T950
https://dl.doubtnut.com/l/_N8Y69RtkL56G
https://dl.doubtnut.com/l/_V5cTJDVGud1s
https://dl.doubtnut.com/l/_3NgsILieTbxR

° Watch Video Solution

248. Evaluate: / v dzx
1+ cosx

° Watch Video Solution

249. Evaluate: ﬁc tan z sec’ zdx

° Watch Video Solution

250. Evaluate: ﬁc sin® z cos® zdzx


https://dl.doubtnut.com/l/_3NgsILieTbxR
https://dl.doubtnut.com/l/_HDKK0yCOaC3D
https://dl.doubtnut.com/l/_DGhp2TdURgWI
https://dl.doubtnut.com/l/_J1zfMo6UsT1y

° Watch Video Solution

251. Evaluate: ﬁ: cos’ axdzx

° Watch Video Solution

252. Evaluate: ﬁc sin® zdx

° Watch Video Solution

253. Evaluate: /xz cos 2xdzx


https://dl.doubtnut.com/l/_J1zfMo6UsT1y
https://dl.doubtnut.com/l/_inbvQXAxr8Bf
https://dl.doubtnut.com/l/_OZgcfMlvC5PI
https://dl.doubtnut.com/l/_uHkic8Jrj5Pl

° Watch Video Solution

254, Evaluate: ﬁcz sin 2xdx

° Watch Video Solution

255, Evaluate: /sin Vzd

° Watch Video Solution

256. Evaluate: /ac3sin r’dx


https://dl.doubtnut.com/l/_uHkic8Jrj5Pl
https://dl.doubtnut.com/l/_zj6ATOWXUmQc
https://dl.doubtnut.com/l/_AuvtQ8D0Lyg4
https://dl.doubtnut.com/l/_H5BYrhy178Y7

° Watch Video Solution

257. Evaluate: /(a:c + b)\/cx + ddz

° Watch Video Solution

258. Evaluate: /xz \/ axr + bdx

° Watch Video Solution

259. Evaluate: /xz log xdzx


https://dl.doubtnut.com/l/_H5BYrhy178Y7
https://dl.doubtnut.com/l/_JzzNyhfVABA4
https://dl.doubtnut.com/l/_BWpkNcsCQexr
https://dl.doubtnut.com/l/_LxWPTJuEaKeX

° Watch Video Solution

260. Evaluate: ﬁc log xdzx

° Watch Video Solution

261. Evaluate: ﬁog10 xdx

° Watch Video Solution

262. Evaluate: ﬁog(w + 1)dzx


https://dl.doubtnut.com/l/_LxWPTJuEaKeX
https://dl.doubtnut.com/l/_EKwEZPpnEGXb
https://dl.doubtnut.com/l/_yV7RwlzE5QqC
https://dl.doubtnut.com/l/_8xSicXBo8ApN

° Watch Video Solution

263. Evaluate: /(a:2 + 1) log xdzx

° Watch Video Solution

264. Evaluate: ﬁc log 2xdx

° Watch Video Solution

265. Evaluate: ﬁog(Z + mz)dw


https://dl.doubtnut.com/l/_8xSicXBo8ApN
https://dl.doubtnut.com/l/_SONEZAPyGuJb
https://dl.doubtnut.com/l/_yjOAMaY68qVv
https://dl.doubtnut.com/l/_tebLaTWypdtP

° Watch Video Solution

log(1
266. Evaluate: /og(;ga:) dx

° Watch Video Solution

267. Evaluate: /\/E(log z)’dzx

° Watch Video Solution

268. Evaluate: /cos 1 pdx


https://dl.doubtnut.com/l/_tebLaTWypdtP
https://dl.doubtnut.com/l/_tY3fCFBOr9d9
https://dl.doubtnut.com/l/_pywdI6KggkUD
https://dl.doubtnut.com/l/_qa57z259uNzu

° Watch Video Solution

269. Evaluate: ﬁ:an_ L rdz

° Watch Video Solution

1 — 2
270. Evaluate: /cos_1 ( v )d:c
1+ 2

o Watch Video Solution

2
271. Evaluate: /sinl( < )dw
14+ 22


https://dl.doubtnut.com/l/_qa57z259uNzu
https://dl.doubtnut.com/l/_v4drWyUb82vn
https://dl.doubtnut.com/l/_NuLGtRmx1zoH
https://dl.doubtnut.com/l/_CvCSxLvBAvZh

° Watch Video Solution

xcos Lz

272. Evaluate: / dzx

V1 — x2

o Watch Video Solution

273. Evaluate: /332 sin” ! zdx

o Watch Video Solution

274. Evaluate: /cos eccrdx


https://dl.doubtnut.com/l/_CvCSxLvBAvZh
https://dl.doubtnut.com/l/_feuxDk2LMHRf
https://dl.doubtnut.com/l/_g3v8btG4Zzmt
https://dl.doubtnut.com/l/_cjapKYxtFpZ3

° Watch Video Solution

275. Evaluate: /e““” cos bxdzx

° Watch Video Solution

276. Evaluate: /e_w sin zdx

° Watch Video Solution

277. Evaluate: /62"’" sin zdzx


https://dl.doubtnut.com/l/_cjapKYxtFpZ3
https://dl.doubtnut.com/l/_ek8peGeOeovT
https://dl.doubtnut.com/l/_hxqiHlGKjslq
https://dl.doubtnut.com/l/_tFRHAOJhpZRn

° Watch Video Solution

cos 1z
278. Evaluate: / —— dz
T

° Watch Video Solution

279. Evaluate: fv?” dx

° Watch Video Solution

og T
280. Evaluate: /‘ 5 dx
72


https://dl.doubtnut.com/l/_tFRHAOJhpZRn
https://dl.doubtnut.com/l/_LbexNBzyPXsG
https://dl.doubtnut.com/l/_uHf0laCgvruE
https://dl.doubtnut.com/l/_ih85PdtVUJHW

° Watch Video Solution

281. Evaluate: /esm sin 2zdx

° Watch Video Solution

282. Evaluate: /(sin_ 1 :1;) 2d:1:

° Watch Video Solution



https://dl.doubtnut.com/l/_ih85PdtVUJHW
https://dl.doubtnut.com/l/_bYWCZwSShh7G
https://dl.doubtnut.com/l/_ZUWkb5rR0HLZ

283. Evaluate

— 1 2.4+1) —21
/ :1:2—|—1 og(a: + 1 oga:dx
x

° Watch Video Solution

1 —
284. Evaluate: /canl A / v dz
1+=x

o Watch Video Solution

T — sinx
285. Evaluate : /( )dm.
1 —cosx

l ° Watch Video Solution



https://dl.doubtnut.com/l/_q3WLRA5NY4qG
https://dl.doubtnut.com/l/_RhcjjXSybpZp
https://dl.doubtnut.com/l/_wHMcR1HkSsN8

e’(1+ xlogx
286. Evaluate:/ ( . & )da:

° Watch Video Solution

1
287. Evaluate: /em (tan_1 T + )da:
1+ z2

° Watch Video Solution

288. Evaluate: /e"” (sinz + cos z)dx

| €8


https://dl.doubtnut.com/l/_wHMcR1HkSsN8
https://dl.doubtnut.com/l/_pRrKddMlmNdG
https://dl.doubtnut.com/l/_7mkxWM5Veo7s
https://dl.doubtnut.com/l/_r8YPYfRS2sLL

L ¥ Watch Video Solution

1 —sinx
289. Evaluate: /e"” dx
1 — cosx

O Watch Video Solution

1+=x
290. Evaluate: [e® ———dx

(2 + 33)2

° Watch Video Solution

291. Evaluate: /9”3 ( dx



https://dl.doubtnut.com/l/_r8YPYfRS2sLL
https://dl.doubtnut.com/l/_Y8dpSGBAfDnF
https://dl.doubtnut.com/l/_dWMXQPUlc7sN
https://dl.doubtnut.com/l/_SqJCesbPjVP5

\ ° Watch Video Solution

“’(:1;3 +x + 1)
292. Evaluate: /E —dzT
(14 x2)2

° Watch Video Solution

293. Evaluate: /e"”(tana: — logcos x)dx

° Watch Video Solution

294. Evaluate: /9“' (cot T — COS eczm) dzx


https://dl.doubtnut.com/l/_SqJCesbPjVP5
https://dl.doubtnut.com/l/_XJzizyaDCwHk
https://dl.doubtnut.com/l/_UwIG6J81EP6a
https://dl.doubtnut.com/l/_uuBdezj4FP1y

° Watch Video Solution

295. Evaluate: /e““'(tan:c + logsecz)dx

° Watch Video Solution

296. Evaluate: /e““’ (cot z + logsinx)dx

° Watch Video Solution



https://dl.doubtnut.com/l/_uuBdezj4FP1y
https://dl.doubtnut.com/l/_OzqgX350Rfpx
https://dl.doubtnut.com/l/_nCPd1eRKh7o9

297. Choose the correct answer
/9”” secz(1l + tanx)dz(A) e*cosxz + C (B)

e?secx + C (C)e*sinz + C (D) e* tanx + C

o Watch Video Solution

dzx

V1 —wzsin_lw +1
V1 — z?

298. Evaluate: /e"’

o Watch Video Solution

1 2
299. Evaluate: /ex ( s~ 3 )dw
x x


https://dl.doubtnut.com/l/_YldgQFuYqeSo
https://dl.doubtnut.com/l/_HfO85hFQ42fl
https://dl.doubtnut.com/l/_cVu6HHwzJokG

° Watch Video Solution

1 1
300. Evaluate: /e“" (— — —)dw
i 5132

° Watch Video Solution

301. Evaluate: e“‘dx
42

° Watch Video Solution

r —3
302. Evaluate: /—36xdw
(z — 1)


https://dl.doubtnut.com/l/_cVu6HHwzJokG
https://dl.doubtnut.com/l/_29ikHfMxUmr3
https://dl.doubtnut.com/l/_pwI50oKqgPbA
https://dl.doubtnut.com/l/_Lb2fwUv6Roh0

° Watch Video Solution

2—x
303. Evaluate: /—exdm

(1—2)’

o Watch Video Solution

/ 2 — sin2x
304. dzx
1 — cos2x

o Watch Video Solution



https://dl.doubtnut.com/l/_Lb2fwUv6Roh0
https://dl.doubtnut.com/l/_92RmiAEQI2ke
https://dl.doubtnut.com/l/_9MQ3xnBP6Lqr

2 + sin 2
305. Evaluate:/ e’ +sinsa dx
2cos2

O Watch Video Solution

306. Evaluate: /[tan(log z) + sec’(logz)|dz

O Watch Video Solution

e?(1 — )’

307. Evaluate: / 5
(1+z?)

° Watch Video Solution



https://dl.doubtnut.com/l/_Rtuoo2cgjRO4
https://dl.doubtnut.com/l/_4yjeHnCo90Ez
https://dl.doubtnut.com/l/_itvWZrYUClZ3

me2w
308./ 5 dz
(14 2z)

° Watch Video Solution

309. Evaluate: /etanlx (1 + v )daz
1+ z2

° Watch Video Solution

1 9 -
310. Evaluate: ;[az(log:c) —|—210gm}e dz

o Watch Video Solution



https://dl.doubtnut.com/l/_itvWZrYUClZ3
https://dl.doubtnut.com/l/_UAvAppz7IjCW
https://dl.doubtnut.com/l/_FpFQqyNdd9hW
https://dl.doubtnut.com/l/_fovzT5SQVxEl

311. Evaluate: x (i)

1
(i) / d
V14 42
dzx

1
/\/a2+b2:1;2

° Watch Video Solution

(=)
312./ dx
9 — 25¢2

° Watch Video Solution

313. Evaluate: /\/3:1:2 +4x + 1dx


https://dl.doubtnut.com/l/_fovzT5SQVxEl
https://dl.doubtnut.com/l/_Fuib7CEcCvgt
https://dl.doubtnut.com/l/_b0UOqZ05tr6A
https://dl.doubtnut.com/l/_vYxmgdIhC6IF

° Watch Video Solution

314. Evaluate: / dz
V2 — 3z + 2

° Watch Video Solution

dzx

315. Evaluate:/
V10 — 8x — 222

o Watch Video Solution

dzx
316. Evaluate:/
V4 — 2z — 22


https://dl.doubtnut.com/l/_vYxmgdIhC6IF
https://dl.doubtnut.com/l/_K3hQhlYkRXQn
https://dl.doubtnut.com/l/_lujV6ru2538r
https://dl.doubtnut.com/l/_WsCaYZaVvRsW

° Watch Video Solution

317. Evaluate: / dz
V16 — 22 — 212

o Watch Video Solution

Zr

d
318. Evaluate:/
V2 + 2z + 2

o Watch Video Solution

319. Integrate the functions

1

VT — 6 — x2



https://dl.doubtnut.com/l/_WsCaYZaVvRsW
https://dl.doubtnut.com/l/_OB0NxnyMi6K0
https://dl.doubtnut.com/l/_IWt35GNOUnDB
https://dl.doubtnut.com/l/_LsXBiGsRf2u5

° Watch Video Solution

320. Evaluate: / dz
Vbhx? — 2x

° Watch Video Solution

1
321. Integrate the functions

V8 + 3x — x2

o Watch Video Solution

dzx

2r — x

322, Evaluate: / >


https://dl.doubtnut.com/l/_LsXBiGsRf2u5
https://dl.doubtnut.com/l/_Z3RC5jsgxQ2b
https://dl.doubtnut.com/l/_MPQpNaQnDB9g
https://dl.doubtnut.com/l/_nUfY7VC37Nk2

° Watch Video Solution

dx
323. Evaluate: /\/(:c (e 2

O Watch Video Solution

dzx
324. Evaluate: /

\/(w —1)(2 —=x)

o Watch Video Solution

1
325./ dx
3x2 + 13x — 10


https://dl.doubtnut.com/l/_nUfY7VC37Nk2
https://dl.doubtnut.com/l/_5LY2HHZyHrOQ
https://dl.doubtnut.com/l/_4Fir6UuvnXk7
https://dl.doubtnut.com/l/_ipURE8zSVSel

° Watch Video Solution

326. Evaluate: / dz
x?2 — 6x + 13

° Watch Video Solution

327.Evaluate: /4 — x2

° Watch Video Solution

328. Evaluate: /\/1 — 4z’dx


https://dl.doubtnut.com/l/_ipURE8zSVSel
https://dl.doubtnut.com/l/_Tl1eGLduaDM0
https://dl.doubtnut.com/l/_5DjcS0Bj1JGV
https://dl.doubtnut.com/l/_Y9lT4D9aWBla

° Watch Video Solution

1
329. Evaluate: / dzx
V3 — 2x — x2

° Watch Video Solution

330. Evaluate: /\/1 — 4z — z’dx

° Watch Video Solution

331. Evaluate: /\/ 1+ z%dz


https://dl.doubtnut.com/l/_Y9lT4D9aWBla
https://dl.doubtnut.com/l/_t161UxFETU0d
https://dl.doubtnut.com/l/_AtWANcdnTWN3
https://dl.doubtnut.com/l/_ONpusESFuXtF

° Watch Video Solution

22
332. Evaluate: / 1+ ?dw

o Watch Video Solution

333. Evaluate: /\/wz + 4z + 1dzx

o Watch Video Solution

334. Evaluate: /\/:1;2 + 4z + 6dzx


https://dl.doubtnut.com/l/_ONpusESFuXtF
https://dl.doubtnut.com/l/_XuV5ZUKT13gR
https://dl.doubtnut.com/l/_mXfpBVgbm2yG
https://dl.doubtnut.com/l/_NdmrifWtTrkl

° Watch Video Solution

9
335./ T  dz
222 + 6x + 5

° Watch Video Solution

3z + 1
336. / Tt dz
202 — 2 + 3

° Watch Video Solution

337. Evaluate: / dzx


https://dl.doubtnut.com/l/_NdmrifWtTrkl
https://dl.doubtnut.com/l/_ws2ETRpisgGc
https://dl.doubtnut.com/l/_OffahJf0E9n5
https://dl.doubtnut.com/l/_F6OMbnDQsy6R

° Watch Video Solution

338. Evaluate: / dzx
Va2 —1

° Watch Video Solution

5 3
339. Evaluate: / Tt dx

V2 + 4z + 10

O Watch Video Solution

340/ .dx
Vb — 4z — x2


https://dl.doubtnut.com/l/_F6OMbnDQsy6R
https://dl.doubtnut.com/l/_qObDW3VQbjug
https://dl.doubtnut.com/l/_1msJl7E63o6K
https://dl.doubtnut.com/l/_vlIiUONjpPBG

° Watch Video Solution

T + 2
341. Evaluate: dzx
vVr? —2x + 3

° Watch Video Solution

342. Evaluate : / bz +7 dzx

\/(:1: —5)(z — 4)

° Watch Video Solution

343. fm/ T + z’dr


https://dl.doubtnut.com/l/_vlIiUONjpPBG
https://dl.doubtnut.com/l/_5NjPoihlCt5D
https://dl.doubtnut.com/l/_QT0XJ9EIDMxp
https://dl.doubtnut.com/l/_Pmp3WcahiUg0

° Watch Video Solution

344, Evaluate: /(a: +3)/3 -4z — 2 dx

° Watch Video Solution

22
dx

345. Evaluate: /
1 — x6

° Watch Video Solution

3x
346. Evaluate: /—dm
1+ 224


https://dl.doubtnut.com/l/_Pmp3WcahiUg0
https://dl.doubtnut.com/l/_rnitf5i3RDVj
https://dl.doubtnut.com/l/_LArbsfTNCxN3
https://dl.doubtnut.com/l/_byPeOMZOyoKA

° Watch Video Solution

72
347. Evaluate: / dzx

Vb 4 ab

o Watch Video Solution

348. Evaluate: / v dzx

24+ x4+ 1

o Watch Video Solution

/ dx
349,
2_9


https://dl.doubtnut.com/l/_byPeOMZOyoKA
https://dl.doubtnut.com/l/_NWGyMiBoe2JH
https://dl.doubtnut.com/l/_qzzpIa1YKMIZ
https://dl.doubtnut.com/l/_VsG8XXf5zQJd

° Watch Video Solution

T

ﬁa/@+4xm+mdw

° Watch Video Solution

dx
%yﬂw+n@+a)

o Watch Video Solution

2¢ + 1
352'/(a;+2)(x—3)dm


https://dl.doubtnut.com/l/_VsG8XXf5zQJd
https://dl.doubtnut.com/l/_PiJ8GsJTVk8h
https://dl.doubtnut.com/l/_oCwhZdQgstpb
https://dl.doubtnut.com/l/_bDNAJFJXi3ee

° Watch Video Solution

2x
353./ dx
x2 + 3z + 2

° Watch Video Solution

5x
354'/(:1: D@ 1) dr

° Watch Video Solution

T

355‘/(.7; Y PRy P



https://dl.doubtnut.com/l/_bDNAJFJXi3ee
https://dl.doubtnut.com/l/_pruLa0T3LfyT
https://dl.doubtnut.com/l/_JXBNwa2XMWJz
https://dl.doubtnut.com/l/_gLod6LbeYWd7

° Watch Video Solution

20 — 3
356./ dx
(22 — 1)(2z + 3)

° Watch Video Solution

cos
357./ ;)
(1+ sinz)(2 + sinz)

o Watch Video Solution

r+1
358. Evaluate: dx
z (1+ xe?)



https://dl.doubtnut.com/l/_gLod6LbeYWd7
https://dl.doubtnut.com/l/_alE3VmtcTPh4
https://dl.doubtnut.com/l/_SKLCGhptJbVI
https://dl.doubtnut.com/l/_D4N96RBPllgR

° Watch Video Solution

359 / sec? J
[ ] w
(2 + tanz)(3 4 tanz)

o Watch Video Solution

360/ dx
“Jx(z5 + 1)

o Watch Video Solution

361/ dz
“Jx(xb + 1)


https://dl.doubtnut.com/l/_D4N96RBPllgR
https://dl.doubtnut.com/l/_10BjAmRk0fQf
https://dl.doubtnut.com/l/_c2lIH6d3Hz9T
https://dl.doubtnut.com/l/_7wyBfgEPXE47

° Watch Video Solution

362. / dz
et — 1

° Watch Video Solution

Z

363. /(1 e (e 1 &) dx

° Watch Video Solution

dx
sinx(3 + 2cos x)

364.


https://dl.doubtnut.com/l/_7wyBfgEPXE47
https://dl.doubtnut.com/l/_WKCEIo0YbKFL
https://dl.doubtnut.com/l/_ehHs7yXFk4y9
https://dl.doubtnut.com/l/_FO97eqvjDNUZ

° Watch Video Solution

1
365. / dx
1 4+ 3e* + 2¢e2=

° Watch Video Solution

. < dx
36 /(:1; —1)*(z + 2)

o Watch Video Solution

3r — 2
367./ 5 dzx
(z+ 1) (x +3)


https://dl.doubtnut.com/l/_FO97eqvjDNUZ
https://dl.doubtnut.com/l/_S465hDGUHzKS
https://dl.doubtnut.com/l/_emb5rrDpvmjT
https://dl.doubtnut.com/l/_94tBCSVwrrhE

° Watch Video Solution

(3sin¢ — 2) cos ¢
368/ d
5 — cos? ¢ — 4sin¢

o Watch Video Solution

3r +1
369./ 5 dzx
(z — 2)%(x + 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_94tBCSVwrrhE
https://dl.doubtnut.com/l/_JDrWmISdWvyy
https://dl.doubtnut.com/l/_2owukRloPfWe

2
1
370./'7" +w+3 dz
@ 1)

o Watch Video Solution

2
371. /(1 — (1 1 22 dx

o Watch Video Solution

2
372.Find/ z"rz+l X
(z 4+ 2)(z%2 + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_7KsMaTvaVvFB
https://dl.doubtnut.com/l/_jVUc1VYA5a12
https://dl.doubtnut.com/l/_jSYquTRld4qV

9
1
373. Evaluate: / i dx
2 —bxr + 6

o Watch Video Solution

2
374./ dzx
x2 + 6z + 12

° Watch Video Solution

1 —
375./ PT  dx
cos z(1 + cos x)

o Watch Video Solution



https://dl.doubtnut.com/l/_708ThDLmQDi4
https://dl.doubtnut.com/l/_F8ajD5EIoeCb
https://dl.doubtnut.com/l/_Zzk1HnJUbHSE

376./ 4
sinz(3 + 2cos x)

o Watch Video Solution

sin

dzx

377. Evaluate: / .
sin 4z

o Watch Video Solution

z—1)(x —2)(z — 3)
378./§ ; )da:

o Watch Video Solution



https://dl.doubtnut.com/l/_6n9JOZYiyJ7n
https://dl.doubtnut.com/l/_JtzsLelC0hBe
https://dl.doubtnut.com/l/_ued3MdBEsMui

£B2

379. Find
" /(2132 T ) (22 + d)dz

° Watch Video Solution

380. / T 4z
1+ 9sin’x

° Watch Video Solution

2
381. / T dx
Vtan?z + 4

o Watch Video Solution



https://dl.doubtnut.com/l/_GrrgX2QG9mT5
https://dl.doubtnut.com/l/_X9n9M0udvFN1
https://dl.doubtnut.com/l/_KTKoOvoqdXX6

382, Find /sm 2x cos 2xdx
/9 — cost(2z)

° Watch Video Solution

dx

T + cost x

383.
sin

° Watch Video Solution

inx + cosx

384. / S T dz

° Watch Video Solution



https://dl.doubtnut.com/l/_bq1ckrR9ynII
https://dl.doubtnut.com/l/_lodGmDQ5dEWX
https://dl.doubtnut.com/l/_8E9kdXiElVY5

385./ _ 0% dz
2sinx + 3cosx

o Watch Video Solution

/ dx
386.
1+ tanx

o Watch Video Solution

387. / dz
1+ cotx

° Watch Video Solution



https://dl.doubtnut.com/l/_lpk4nmKNDU9k
https://dl.doubtnut.com/l/_lHkR8BukXsm6
https://dl.doubtnut.com/l/_lowz44dQ0u7j

388 dx

sinx + 2cosx
2sinx + cosx

o Watch Video Solution

sin
389. / _ dx
3sinx + Scosx

o Watch Video Solution

dx
390. /
1+ cos?2zx

o Watch Video Solution



https://dl.doubtnut.com/l/_ejOyMNVB2koZ
https://dl.doubtnut.com/l/_pBTNQsCEDCpd
https://dl.doubtnut.com/l/_CbEojTrJoiYB

391./ 2 dz
4sin“x + 9cos?

° Watch Video Solution

392, / da 2
(asinz + bcos x)

o Watch Video Solution

393/ dz
"I 54+ 4sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_rWXWw9Rnrhin
https://dl.doubtnut.com/l/_t1JJiIKH08u3
https://dl.doubtnut.com/l/_xb4pEyWZehPD




